[HEN

dy dp ) [GeV~]

=
<
I

1/(2m) &N/(p
S

=
o
e

Ratio to STAR

0.5

200 GeV pp Soft QCD
E'|'|'|'|'|'|'|'|'|'|'|'|'|' '|'|'|'|'|'|'|'|'|'|E
B PT(K" |
~ ®m  STAR -
~ —&— Pythia 8.301 default ]

---&-- Pythia 8.301 default-CD
= ----- Pythia 8.301 default-DL 3
- A Pythia 8.301 default-MBR —
; AR B | | |, e | !y _E
: T T T | T T T T | T T T | T T T T | T T T I:

" 1 1 1 " | " 1 1 " 1 1 | 1 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1
0 0.5 1 1.5 2

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


